Whitman College

Econ 107

Exam 1

February 9, 2006

Write all answers on your exam.  Show all of your work.  The exam ends at 12:05.

1.  (a)  (5pts)  On the graph paper below, draw a production possibilities frontier that exhibits increasing opportunity cost.  Be sure to label your axes.

	
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 


(b)  (5pts)  Show that your graph exhibits increasing opportunity cost.

2.  (a)  (10pts)  Name a particular good.  List four determinants of the demand for your good, describing how one change in each determinant would shift the demand curve for your good.  Be specific about what direction the determinant changes and what direction the demand curve would shift in each case.

(b)  (5pts)  What is the one determinant of the demand for your good which, when it changes, does not cause a shift in the demand curve?  Explain why the demand curve does not shift when this determinant changes.

3.  Suppose a market for widgets is perfectly competitive and free of government intervention.  Sellers' costs of production and buyers' values of consumption are given below, in dollars.  Each buyer may buy at most one widget and each seller may sell at most one widget.  No fractional units of widgets can be traded.  Prices can be negotiated to the penny.  Use the data below to answer questions (a)-(h).

	Buyer's Number
	Buyer's Value ($)
	Seller's Letter
	Seller's Cost ($)

	1
	5
	A
	1

	2
	4
	B
	3

	3
	6
	C
	3

	4
	8
	D
	5

	5
	1
	E
	6

	6
	7
	F
	2

	7
	3
	G
	4

	8
	2
	H
	1


 (a)  (10pts)  On the graph paper below, draw the supply and demand graph for widgets. 

 Be sure to label your axes.

	
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 


(b)  (5pts)  What is the equilibrium price range for widgets?  (Recall that prices can be negotiated to the penny.)

(c)  (5pts)  What is the equilibrium quantity of widgets?

(d)  (5pts)  What is the total consumer surplus in equilibrium?

(e)  (5pts)  What is the total producer surplus in equilibrium?

Suppose that in order to help consumers of widgets, the government sets a price ceiling of $2.50 per widget.  Suppose further that with the price ceiling in place, only the trades described in the following table occur.

	Seller’s ID
	Buyer’s ID
	Price ($)
	Seller’s producer surplus
	Buyer’s consumer surplus

	A
	7
	2.50
	
	

	H
	2
	2.50
	
	

	F
	3
	2.50
	
	


(f)  (5pts)  Fill in the table above to show the actual producer surplus and consumer surplus associated with each trade.    

(g)   (5pts)  Would you say that the price ceiling helped consumers?  Explain.

(h)  (5pts)  How was society in general affected by the price ceiling?

4.  Use the following information to answer questions (a)-(e).  Read all the parts of this question before you answer any of them.

Suppose the market for beer is perfectly competitive.  Consider a proposal to impose on producers a state excise tax of $1.00 per beer, intended both to generate tax revenue and to make teenagers drink less beer.  Suppose that the current price of a beer is $4, and that economists estimate that the price of beer would rise to $4.80 after the tax.  Suppose also that current monthly sales of beer are 100,000, and that economists estimate that the monthly sales would be 90,000 after the tax.  

(a)  (10pts)  On the graph paper below, show the supply and demand curves both before and after the tax.  Draw your graph to scale, and indicate on your graph the quantity sold before and after the tax, and the price before and after the tax.  Be sure to label your axes.
	
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 


(b)   (5pts)  How much tax revenue would this excise tax generate for the state?

(c)  (5pts)  Explain why the price of beer would not rise by the full amount of the tax.

 (d)  (5pts) What is the price elasticity of demand for beer when the price of beer is $4?

(e)  (5pts)  On your graph from part (a), indicate the dead-weight loss that the tax would cause.  Explain in words what this dead-weight loss represents.
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